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QUESTION 1

View the Exhibit. 

The application accesses secured web services over HTTPS. The certificates have been issued by the internal
certificate authority of your organization. In addition, the application requires access to the SMS and camera features of
the device. 

Which are the three actions you must perform to prepare the application for distribution on the Google Play Store? 

A. In the deployment profile, specify a unique, Java language-like package name identifying the application as the
ApplicationBundle ID. 

B. Obtain or generate a private key to sign the application package (.apk file) and update the preferences of your IDE to
use it. 

C. Validate your archive name by using the registry available on the Oracle Technology Network. 

D. Registeryour application on the Oracle Mobile Cloud Service. 

E. In the deployment profile, set the build mode to Release. 

F. Remove any certificates emitted by your organization from the cacerts file. 

Correct Answer: ADE 
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QUESTION 2

In an application created from an application archive, which one of the archives can be extended, but cannot be directly
seen? 

A. AMX page source code 

B. Java classes 

C. bounded task flows 

D. unbounded task flows 

E. maf-applications.xml 

Correct Answer: B 

 

QUESTION 3

In defining anURL scheme for a MAF application, what can the URL payload carry at run time when the event listener
captures the URL scheme call? 

A. Only the URL scheme name might be carried. No other URL is valid. For example, it might carry: myapp:// 

B. The URL scheme name and optionally ahierarchicalpart might be carried. No other URL is valid. For example, it
might carry: myapp:// myapp://doSomething 

C. The URL scheme name and optionally ahierarchicalpart might be carried along with an optional single parameter key-
value pair. For example, it might carry: myapp:// myapp://doSomething myapp://doSomething?value1=123 

D. The URL scheme name might be carried along with an optional hierarchical part and multiple parameter key-value
pairs. No other URL is valid. For example, it might carry: myapp:// myapp://doSomething
myapp://doSomething?value1=123 myapp://doSomething?value1=123andvalue2=true 

Correct Answer: A 

 

QUESTION 4

Which technology can be used to transform data from comma-separated values (CSV) into XML? 

A. XQuery 

B. XSLT 

C. MFL 

D. MAF 

Correct Answer: A 

http://www.oracle.com/technetwork/issue-archive/2005/05-mar/o25xml- 093104.html 
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QUESTION 5

Which two approaches are encompassed by service mediation? 

A. loosely coupling service consumers with enterprise systems 

B. the ability to provide additional information by aggregating data from multiple enterprise systems 

C. rapid prototyping of service interfaces 

D. rapid deployment of services into the cloud 

Correct Answer: BC 
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